














OTET-P-1/16 (2nd)

84. Which of the following words in the passage means ‘talk indistinctly

usually in a low voice’ ?

(A) exhort @mullcr

(C) mount (D) insist
85. The incident took place in j
; (A) Germany @ France \_—
\ (C) England (D) India

Read the passage carefully and answer the questions (No. 86 to
No. 90) that follow choosing the correct alternatives given :
Tolerance means magnanimity and patience. Tolerance is a sign of respect
and consideration for others. It is a virtue.

When someone points out your mistakes, don’t lose your temper. Resist
the urge to quarrel with the other person. Instead, ask yourself, “Am |
wrong ? If the other person,; perhaps, is right 2

Tolerance makes a person develop wider vision. Don’t allow yourself to
be disturbed by small irritations. Learn to accept what is disagreeable. You
will then enjoy greater freedom of thought and expression,

Indeed, developing tolerance is not easy but worth rying. Once you have
learn( the art of loving and giving you can casily be tolerant,

Be kind towards the weak and poor. Never discriminate people for
reasons of religion, caste and creed. Learn to rise above narrow royalties
so that you can broaden your outlook.

86. This passage talks about

(A) respect (B) consideration

(C) virtue \/)< (D) tolerance
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Q8
MATHEMATICS
9]. 69k Q8e 381 26620 Teen Qfee | 91. Which is not connected With
Q6L ? internal structure of Mathematics ?
(A) §2agq (A) Specific sequence

@ Q6484 B A°64N4
(C) Q°39g 28

(D) Faae

92. 6oWC IR JUYETQ 6laR 26e ? | 92.

(A) QIS AAIFE

(B) 69%°6am

(D) g99R

93. T67IS 638Q QERGYER AIQ 6Qae | 93.

2Ry T6RIG 01 @] ?
(A) OR QaQ 9ae
@ QR Q°6RAITPA R4IF0R 05 ASK

(C) QIRQ Q¢ FA6Q Gl"eq_qlq@m
ARIQAE

(D) 64170 A°HIYPRA YURRRE
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(B) Analysis and synthesis
(C) Precise expression
(D) Exactness

Which is an observational
technique ?

(A) Standardised Achievement
test

(B) Rating scale
(C) Interview
(D) Questionnaire

V\_fhich instructional objective is
different from the other three ?

(A) Recognition of correct
answer

(B) Drawing geometrical figures
by dot joining

(©) Arranging numbers in
ascending order

(D) Separation of prime
numbers

(Continued)
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96.

Q8¢ RIS §q6s cddq
QERAIYTRR 694 9T O] 7

(A) 691, T64V4, RIS 6 geAIq
(B) ®IQ, 969219, 6Q1M B 964a4

(C) 9699, REIE, RIF 6 621

@)m, 6QRI, Q621G B Q6488

cdlaa QQI99 69Q Y6 aa18l1
QIaQ 08 AIRAY6R FISCR BIF A0S
@aald ?

(A) Q°6QQIR
(B) giq aIdil

@%‘ QQIdHe!

(D) @98 Qe

Gﬂ@ﬁ‘GQABCDﬂGGﬁ%Q%‘“ABE 96.
ﬂ@qmgm@qﬁammmm
/AED@ 98916 cqee @9t ?
A) 60
2, D A
(B) 45 *
(C).A30
B .
15
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Which is the correct order of
instructional objectives 0Ol
teaching Mathematics 7

(A) Understanding, Analysis,
Knowledge and Application

(B) Knowledge, Application,

Understanding and Analysis

(C) Application, Analysis,

Knowledge and Understanding

Knowledge, Understanding.

-

Application and Analysis

(D)

At what stage of cognilive
development, the child acquires
Mathematical Knowledge using
real objects ?

(A) Sensory motor

(B) Pre-operational

(C) Concrele operational

(D) Formal operational

[n the given figure, ABCD 1s a

square and AEB is an equilateral
trianlge. AR 18 drawn What 1s

the measure of the angle £ AED
in degree ?

(A) 60 B A

(B) 45 SE
(C) 30 c B

(D) 15

(Turn over)
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97. 6QIGN TNIRER ToaR), 966, ohma | 97. A school has the provisions for

B QIRALR, L QI6AIT 65Ra gl

2T IS G6RYQ@ BIG/SIG 6990 69l

6EIR 651@AIQ PO 2T | TR PRERSER

O CTIRIR, QERE 6HRIR, AR
EEIRIR B IRNLR AR AIeea

Q°3YIg QeNgen P, Q, R G S QIql-
9% @aIR1Rg | P, Q, R g goIRasl

QVERIQ AT G £ S AXAFER
gangen 100°, 50° 8 70°1 A& goe
6SIRAL ANA°SHYI 0IQ FERT! 691!

ARSI 25 @A 29, 6968 NISTLR

6819891 TNIA°HYI 6Q6C ?

@

(B) 60 SR

(C) 65
D) 85

08. 26qIgIF 9966Q P09 6eQ @3 | 98.

g ?
(A) 96a 6AIa A°ge A°AG QI
Q060 FHA R6Q |

(B) 94 Q8¢ 2°g8 AN
QQAIAG! AAER FOQ R6Q |

(C) @fe 9990 A0ING @Q 2ew
RQUAIN |

@é‘emgmg gee 9a AeQ|
y-28g QUG a%ed |
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four games, such as foot ball,
cricket, volley ball and badminton.
The school also has the rule that
each student is to play only one
of the above games. The given
pie-chart shows the number of
students playing each of the four
games where P, Q, R and S
denote the number of students
playing foot ball, cricket, volley
ball and badminton respectively.
The degree measures of the arcs
of the concerned sectors
representing P, Q and R are 100°,
50° and 70° respectively. If the
number of students playing cricket
is less than the number of students
playing foot ball by 25, then what
is the number of students that play
badminton ?
(A) 70 s | R
(B) 60
(C) 65
(D) 85
Which of the following statements
is incorrect while preparing a
histogram ?

(A) The width of a column

depends upon the concerned
class interval.

P

(B) Height of a column depends

on the frequency of the
concerned class.

(C) The successive columns are
drawn adjacent to each other.

(D) The first column of a
histogram is always drawn
adjacent to the y-axis,

(Continued)
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=00, 6QITN Gavieeig
5 Q89 ARNIG 7 ﬁgﬁ\ﬂ WU 8 @ | 99. The lowest and highest scores in
N 019@ eI QU a data are 8 and 70 respectively
N&@ Q19 998 Qaniee qig 8198 ai‘ld afrequericy_ distribbution witg
Qade | 9o ' < class intervals is to be prepare
i M8 QRS Qe QI for the data. If all the classes are
LIRNAN 9L Q2R Q0T Qqig of equal inervals and the first two
3-10, 10-15 g9, eese 936 62agql classes are 5-10 and 10-15, what
QI9E169 Q°QIQ w_lll be number of classes in the
Q°GHYl 6QEC 6297 distribution ?
(A) 11 (A) 11
(B) 12 (B) 12
@ 13 (@18 :
D) 14 s
2 S N S [V P A
B 100. [
? « Y [T « = 5
k ) i =3
. =
— In the above pattern, there is a box
Qoaa a°aenisa ceel (*) 8% with a star (¥) mark What il be
b ' oo~ = y 1 the star
B cecoroncedomarer | the utatl Ty o
R (A) A
) =
T ARG
e &
= U
B 5 v (B)
- T
)
3 eI
Teiia
(©€) asasell
(..-
(D) |
! -
(Turn over)
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101. Qlefie 996a 2460 a9Iasl OId 6ad
9 JEIO8 QLN YA ?

(A) ééqea @ Q6484
@ 2ICAIL B ALEAIQ
(C) Q6994 6 26aIQ
(D) Q°6g9& 6 a9sqie

102. 59 gl2fie 9a6a S8R R4IFER 2Igo
QIR UIREI 6LQIAIN JHISS 6RNG
QD QB ?

(A) QRAGIER 0Q SR KA
(B) QIF g9s «@as

@ QR 2IQEA g 9AEE QAR
(D) Q6eR 99a @3l

103. 6916 g GES 9TAISA QRN YR
@Q8 | Y2 QA Q194 1G9 AI9 699
geIq 9AE 2GS ?

AL
(B) <aiggex
(C) 90990
(D) 9 4ang
104. — Q@ — QIR QUG FEM — F6R | 9L
@ g 94 ?
f@ 9 A899ee
(B) 748 09qse
(C) QISR IR
(D) egQee
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101. What method is mostly followed
for teaching Geometry at the
primary stage ?

(A) Analysis and Synthesis
(B) Inductive and Deductive
(C) Analysis and Inductive
(D) Synthesis and Deductive

102. What should be done to develop
the concept of different
geometrical shapes at the lower
primary stage ?

(A) todraw figures on the black-
board

(B) to demonstrate charts

(C) to demonstrate objects of
different shapes

(D) to demonstrate models

103. A child is always making mistake
in multiplication. What type of test
should be done to know the cause
of this ?

(A) Diagnostic
(B) Summative
(C) Formative
(D) All of these

104. —, when divided by — gives — .
What type of question is it ?

(A) Free response
(B) Fixed response
(C) Recognition
(D) Multiple choice

(Continued)




105.

106.

107.

9869 A2DNNGA Qq6RIaQ caea
AR LERITC 019 @ ?

(A) 966 6nq|

o
Q&6 ges

(C) cdege
(D) Qdic gae

6915 210A8 2IGE S99 AI8Q
6094, g9 6 Q99! Q298N 84. 6 4.
3 4 Q.1 192 @.91. 6e0a 9@ SR
QQIel QoI QIS Q4 24 16669 5 A.
QG QI Q9] QANAR AIYER AIgY
6Q2 aRaQld QeI 9e8 @B aIw
6966 @.9. Con QIE N8R ?

(01gQae @@ A 6268 AIGR0A
Qcea AIa)

(A) 25

B) 35
© 125

(D) 135
eIt QIRe, 3.52 QERAINCA FRER

qd 29 ! QR aauiad Aae
Gaa0a69 6@60 62 7

(A) 3.52x 10
B) 3.52x 10°

@ 3.52 x 10°

(D) <AIGS AdQ 6430 96

105.

106.

107.

[49]
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Which one is different from the
other three from Co-scholastic
aspect of Mathematics ?

(A) Mathematics fair
(B) Mathematics project
(C) Mathematics club

(D) Mathematics quiz

The weight of a certain liquid
material that fills in a vessel in the
shape of a cuboid of length 8m,
breadth 6m and height 4m 1is
192 kg. What weight, in kg, of
the same liquid material is
necessary to fill in a cubical vessel
of side Sm ?

(All measurements given for the
vessels are their inner measure-

ments)

(A) 25

(B) 35

(@195

(D) 135

A bucket can be completely filled
with 3.52 kilolitre of water. What
is the capacity of bucket in
mililitre?

(A) 3.52x 10* \

B) 3.52x 10’

(©) 3.52x10°

(D) None of these

(Turn over)
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3 7 39 Qe wg 111, Whick.nf i
Qa6a8, QY| 2leq » . .th of the following is a
: rational number that lies between
: 1 2 :
i (A) ]—2— § and 4 ?
, 7
: 8 () =
| e 2
P 15 13
4
| 13 )
| (C) >4
'1 13
| (®) 7
ek '
| 36 25
Bee
1 1 N . kgt - i
Rl 12"—[8"+{9—(5—3— )]} Q | 112. What is the simplified value of
i 2 2
| : L [sdifo-(s-372)] 2
| AQRPE AR 6QEE * 12 [32+[9 (5-3 _)’_ ,
| (A) -2 A) -2
B) -1
® -1
() 1 (@)1
B O 2 .2 1
| ‘ - = 113. Which of the following 1s the
; a Ya Q 9@ena 94 ;
f! g Faa 6eac 0.25 rational form of (.23 ?
] 2es ?
B A) l
| @ Vi &) 30
| 29 23
; (B) 23 (B) 90
g 2 i re
B o 2 © 700 :
100 23 —EQ——%
. 100 (Turn over)
[51) < B e L
~ SET-B e Uity o ool ik S s
=

%0










